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Fig. 1.1
= (a) Compare the motion of the cyclist and the runner during the first 6 seconds. Explain your
7] answer.
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B 1 Fig. 1.1 shows part of the speed-time graphs for a cyclist and for a runner. I
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B (d) After the first 6.0 seconds, the runner moves at constant speed for 4.0 seconds. He then
slows down uniformly and stops in a further 2.0 seconds.
=S On Fig. 1.1, complete the graph for the runner’s motion. [2]
]
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B 2 Aboy steps off a high board into a swimming pool.

2 Fig. 2.1 shows the forces acting on the boy at one point in his fall.
= board
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Fig. 2.1
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s (a) The 540N force is caused by gravitational attraction. E
B
B State the cause of the 100N force.
Ol et r e e st a e e e s e s e st e s s s ensnnen 1]
= (b) Calculate the mass of the boy.
]
&
mMass of DOY = ....coriiiicc e kg [2]
(c) Calculate the resultant force on the boy. State its direction.
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